=
<

a(o @) (rad)
a(d cot(d))

| bl -
J
51 .J [
4

: ST E : : . bl k
-2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
MKFIT_TTDase
mKFit5_TT retrainOldFiles125_v2_prelimWP_epoch4

mkFit_TT_baseline_6iter
mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

1

Ratio

Ratio
-
0
T
—

Hi

DOM
DQM
DQM
DQM

SICEWACL
oloa) (cm)

107}

1a%'|"

Ratio
Ratio

0.8F-------

e LT A e A LR NG e | | R T o | 4 P ] R
0.6 =<+t f 3 : 1

| R B e B B S
TP n (PCA to beamline) TP n (PCA to beamline)

o p/p.)

..........

...........

4=

T
B
S S I -FEr IR
L —— -
o o e e PR PP B
—
— H

o 1 2 3
n (PCA to beamline)

b

(O
N

|
W

T

T



	Contents
	Page 1


